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Section : Quantitative Aptitude

Q.1  Asumof%11.236 is divided among A. B and C such that the ratio of the shares of Aand B is 3 : 5 and the ratio of the
shares of Aand C is4 : 7. The share of B is:

Ans X1 33,302
X2 32,544
X 3. 24,452
W 4 T4,240

Question ID : 6549786482
Status : Answered
Chosen Option: 3

Q.2  Ashopkeeper earns 17% profit by selling an article at 1024 discount on its marked price. If its cost price is 480, then
the marked price (in T) of the article is:

Ans x1, 640
2 624
< 3 636
< 4 600

Question ID : 6549787792
Status : Not Answered
Chosen Option : --

Q.3 A POR is inseribed in a circle. The bisector of P cuts QR at § and the circleat T . IfPR = 5 cm,PS = 6cm and
ST = 4 cm, then the length (incm ) of PQ 1s:

Ans X 1. 13
v 12
<310
X 415

Question ID : 6549787798
Status : Answered
Chosen Option : 3
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Ans XL 40
W2 4
X 3
X 4 50

L

(W]
L

Q.4 The average weight of some students in a group is 58 kg . If 8 smdents of average weight 54 kg leave the group, and 3
students weighing 53.6 kg. 34 kg and 57.4 kg join the group, then the average weight of the remaining students in the

aroup will increase by 575 g. The mumber of students. initially, in the group is:

Question ID : 6549786478
Status : Answered
Chosen Option : 2

X 4 31.6%

(cowect to one decimal place)?
Ans X 1. 42.6%

v 2 46.2%

X 3. 48.4%

Q.5 A man buys goods for ¥8.000. He sells 30% of those goods at a profit of 12% and 40% of the remaining goods at a
profit of 25%. At what profit percentage should he sell the remaining goods to gain 30% in the enfire transaction

Question ID : 6549787794
Status : Answered
Chosen Option : 1

Q.6

Ans x.l. 2‘\{{?
K 2

X 3
v &

&

o I

Ifx + i= \/7. then what is the value of (x2 4+ 1) + [x“+ &)]"

Question ID : 6549787802
Status : Answered
Chosen Option : 1

ZBCD (in degrees) is:

ans of 1. 66
X 2 65
X 3 60
X 4 57

Q.7 ABCD isacyclic quadrilateral whose diagonals interseet at P. If £ZDBC = 72° and £ BAC = 42°_ then the measure of

Question ID : 6549786484
Status : Answered
Chosen Option : 1
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Q.8 Study the given graph and answer the question that follows.

Revenue and Expenditure of company XYZ (in % crores)
during 2014 to 2019
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B Revenus B Expenditure

What is the ratio of the total revenue of the company in 2015 and 2018 to the total expenditore in 2017 and 20187
Ans X 1.9:10
X26:5
W3 7:6
X45:4

Question ID : 6549787809
Status : Answered
Chosen Option : 3

Q.9 2019 # ww F9AT F 9T IET (A, B, C, D 3 E) # Arvwesw T Rewer # gt e 9 smw
T IETT Sy 3T 3O% 91 5T T W w7 3ew &

9ie FWMIGI (A, B. €. D 3R E) B AEES €1 famm

mA
EB
nC
mD

afy 2019 # 3earg C #2100 gerrsan &= 71§ o Ay 2020 & Fwelr gawr = 7% goprgal A F
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Ans 1. 8576
X 2 7428
X 2 6300
v 4 8064

Question ID : 6549786195
Status : Answered
Chosen Option: 1
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Q.10 The price of an article increases by 5% every vear. If the difference between its price at the end of the second and the
third year is T52.50, then what will be its price at the end of the first year?

Ans o 1. T1,000
< 2 3950
< 3 3840
&< 4 900

Question ID : 6549786480
Status : Answered
Chosen Option : 2

Q11 Thevalueof6 X 3 ~ 80f6 — 6 = 4x (5 —7)+5—3 x4 = 60f3is
Ans ; 17
1. e
v 4 ?24
1
2. 4=
< B
5
XBSE

11
x4 5;

Question ID : 6549787805
Status : Answered
Chosen Option : 4

Q.12 4 sumofzx amounts 10 29,246 in 4 vears and to $11,298.75 in ?% vears, at ¥ % p.a. simple interest. The values of x

and y are, respectively:

Ans  of 1. 6900 and 8.5
& 2. 6800 and 8.5
#< 3. 6500 and 8
&K 4 7200 and 7.5

Question ID : 6549786483
Status : Answered
Chosen Option : 1
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250

January February

Ans X 1. 40.9
X 2 545
X3 833
W 455

Q.13 Study the given graph and answer the question that follows.

Numbsr of computers of type A and type B of a company
sold by a dealer during six months of a year

415

450
350 s 350 245
i i
March lune

April M=y

mLomplrars of type £,
m CampLrens of Type B

The total number of computers of type A sold in January and May is what percentage less than the rotal number of
computers of tvpe B sold from March to May? (correct to one decimal place)

Question ID : 6549786499
Status : Answered
Chosen Option : 3

Q14 (1icos8)(cosec 8—cotd)secd _

2

Ans  of 1. sec? g
< 2 sin?@
X 3 cos?@

< 4 cosec? @

sin 8{1—sin 8 )(sec & +tan &)}

Question ID : 6549786494
Status : Answered
Chosen Option : 4

Ans X1~ 35
X2 4
<33
W25

Q.15 In A ABC.DE||BC, where D and E are points on the sides AB and AC , respectively. If
AD =2 cm,BD = 5.2cm,AC = 9 cm and AE = x cm, then what is the value of x 2

Question ID : 6549786486
Status : Answered
Chosen Option: 1
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Ans 132
1. —

X3

31

2. —
X2

K 3
v

Q.16 1f sinf(2sinf +3) =2,0° < 8 < 90°, then what is the value of (sec? 6 + cot28 — cos?6)?

Question ID : 6549787808
Status : Answered
Chosen Option : 2

Ans - X1, 108
< 2 180
3 216
< 4 144

sides are in the ratio of 5 : 13. What is the perimeter (in m ) of the rectangular park?

Q.17 The area of a triangular field whosa sides are 65 m, 72 m . and 97 m iz equal to the area of a ractangular park whose

Question ID : 6549787790
Status : Answered
Chosen Option: 3

Ans of 118
<2 20
X324
X 4 15

remaining work was completed by A alone in 12 days. The value of ¥ is:

Q.18 A.Band C together can complete a work in ¥ | 30 and 45 daya, respectively. B and C workad together for 6 days. The

Question ID : 6549787788
Status : Answered
Chosen Option: 2

Ans  of 1. 40
K2 40
X 3 30
X 4 30

Q19 Ifx +y+z =322+ y2+ 2> = 45andx* + y®+ 2% = 69, then what is the value of xyz?

Question ID : 6549787803
Status : Answered
Chosen Option : 4
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Ans &1
< 2
v &)
X a

B
5

(]

%]

2
4

(L

Q.20 InA ABC.D and E are points on sides AB and BC, respectively, suchthat BD* DA = 1: 2 and
CE: EB = 1t 4 IfDC and AE intersectat F . then FD ¢ FC is equal to:

Question ID : 6549787800
Status : Answered
Chosen Option : 2

Ans  of 1
>~ 2
X 3.
< 4

4

Lh L

Q.21 The six-digit number 537xy 5 is divisible by 125. How many such six-digit numbers are there?

Question ID : 6549786491
Status : Answered
Chosen Option : 3

Ans «H.

X 3

4

243

Q.22 114/3x2 + 5x — 23 = (4x + 2)(Bx + ), then whatisthe value of (A + B + C)2(A>0)

K24 +4/3

K44 —+3

Question ID : 6549786488
Status : Answered
Chosen Option : 2
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Q.23 The given bar-graph shows the number of boys and girls in classes A. B. € and D in a scheol, and the mmmber of
teachers allotted to each class.

g5.:28

3
2

3 30 50
30 77
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A a £ D

mEBmys  mGirls mTeschers

Which class has the least percentage of girls?

Ans 1 B
X2D
X3 C
XA

Question ID : 6549788820
Status : Answered
Chosen Option: 1

Q.24 Twocars X and ¥ start minning towards each other from two places 216 km apart. The ratio of the speeds of X and ¥
is 5 : 7 and the speed of X is 60 km/h . After how many minutes will ¥ and ¥ meet each other?

Ans X1_ 75
X272
W 3 90
< 4 80

Question ID : 6549786476
Status : Answered
Chosen Option : 2

Q.25 I :
Ifsing = i—; , then the value of (secf — tan®) is:
Ans 2426
1. EAEY
x 13
v &) v26

4

3. —
x Jz_
1

K 4 —=

|

=,
Fa
o

Question ID : 6549787806
Status : Answered
Chosen Option: 2
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